gl LEILAD ]
= ONLINE.NET 9 JORDAO

LEILOES

Descrigdao Detalhada

Cdéd. Material Descricdao Material

4061995 ZZELEMENTO ELAST METALFLEX 10M SERRA 2
4011897 LUVA BORR ARTIGO COFACO 427 SERRA 7
4011859 LUVA ACOPL BORR COFACO 147X49X14,7MM SERRA 5
6000836 ANEL O NBR 70SHA 104,14X5,33MM SERRA 2
6000776 ANEL O NBR 70SHA 110,49X5,33MM SERRA 2
6009622 PARAFUSO LAM ACP1020 1/2X2.1/4 BSW SERRA 99
6001409 ARRUELA FREIO TALHA MAN 5T 2105 SERRA 22
6009589 PARAFUSO FRAN A1020 7/16X2.1/2" UNC POL SERRA 249
6031405 PARAFUSO FRAN GR5 7/16X1.1/2" UNC POL SERRA 200
4072540 PARAFUSO EST A307GRB 7/8X4" UNC SERRA 12
6010517 PARAFUSO SXT GRS 3/8X2.1/4" UNC SERRA 185
6001999 ZZBARRA QD A1045 TREF 7/16" SERRA 12
4044413 ARO AMORT PU 80X34X34 PERONTI 18272 SERRA 10
6041430 BOTA PETR MASC VAQ PT 260MM 43 SERRA 2
8003767 ANEL MOTOCANA 50261 SERRA 15
8029100 ZZMOLA HOESCH RDN52G SERRA 1
4005559 CONTRA TELA LATAO M3 FIO 16X3500X1000MM SERRA

4005564 CONTRA TELA LT 1000X3500X1MM 47% SERRA

4073221 Z7J0GO TELA NIQUEL CROMO INF SSTG9OOKL SERRA 1
8075507 ARRUELA PRESSAO M20 JOCIL 2015000029 SERRA 12
4036409 ZZMANGOTE SBR 76,2MM 150PSI PT/AM LIS SERRA 1
4011194 KIT REPARO PNEUM SERRA

8035126 PORCA CASE 00606185 SERRA 21
8031205 PARAFUSO CASE FP116035 SERRA 16
8031510 PARAFUSO SXT CASE FM1120200 SERRA 104
8050366 ENGRENAGEM Z14 DANFOSS 151F1890 SERRA 4
4003323 CAIXA INST EMBUTIR PLAST 4X4 SERRA 16
4006691 CRUZETA ACO MOTOR BLD23/27 SERRA 1
8037227 REPARO CJ TRW 29150108 SERRA 1
4007905 ELEMENTO SCHULZ SRP2015 SERRA 3
4007919 ELEMENTO FILTR COALESC FAOW SBS08275 SERRA 1
4007918 ELEMENTO FILTR COALESC FAOW SBSA8275 SERRA 1
4007003 CURVA 452 LG FM6590 1/2" SERRA 50
4097924 NIPLE DP A234WPB NPT/PLANA SCH40 1/2" SERRA 8
4020313 TE 902 FM6590 1.1/4" 150# NBR6943 SERRA 4
4006115 ZZCORREIATRANS V LISA A 44 SERRA

4061029 ZZEMENDA DP A1045 ANSI60 SERRA

8016705 DISCO PLANO SI 40045150 SERRA 21
8066477 DISCO DMB 700250201006 SERRA 14
8034107 PLATO DISTRIB CPL C/GRADE 81057074 SERRA 3
8049880 REPARO BLOCO DISTR OLEO CVS 1G06879 SERRA

8021533 FUNIL DMB 400220301001 SERRA 5



gl LEILAD )
= ONLINE.NET § JORDAO

LEILOES

Descrigdao Detalhada

8023552 JUNCAO DMB 400440101001 SERRA 3
8049639 LUVA CIVEMASA 1G95527 SERRA 4
8049654 MANCAL CIVEMASA 1G95517 SERRA 4
8030672 PARAFUSO SI 40160038 SERRA 9
6001325 ZZARAME SOLDA TUB 1,60MM REV FACA/MART SERRA 62,5
4096702 ARAME AF LEDURIT 68 1,6MM SERRA 30
6005784 ZZELETRODO SOLDA E10 UM 60 R 3,25MM SERRA 50
6005850 ZZELETRODO SOLDA OK 8456 4AMM SERRA 40
4014215 PINHAO ACO 16D RETOS MODULO 8 SERRA 1
4014217 PINHAO ACO 18D HELIC MOD 5 RE4P SERRA 1
4014219 PINHAO ACO 20D HELIC MOD 4P/RE3 1:25 SERRA 1
4005707 COROA BZE 44D SERRA 2
4014212 PINHAO ACO 15D DRM4,5 RE4 SERRA 2
4098072 ELEMENTO FILTR AGUA PP 5pM SERRA 4
6004153 CARTUCHO TONER ORG PT C4096A HP SERRA 1
6004172 CARTUCHO TONER PR MLS 4129X REMAN SERRA 1
6022035 ABRACADEIRA GEHAKA 31112001 SERRA 1
4022240 VALVULA ALIV MOTOCANA 37100030 SERRA 1
4001683 BOBINA CONT 3TB52 220V 60HZ SERRA 2
4015082 PORTA ESCOVA CARVAO 40X32X12MM S/RAB SERRA 7
4009639 FUSIVEL ROLHA FIXO 30A 250V SERRA 46
4013518 PARAFUSO AJ DIAZED SS 6A 500V SERRA 10
4020033 TAMPA FUSIVEL DII 2~30A E27 SERRA 9
4008051 ZZELO FUSIVEL BOTAO DISTR TPK 15A L&C SERRA 23
4009730 ZZFUSIVEL VIDRO 6X30MM 30A 250V RE SERRA 97
4013508 PARAFUSO AJUSTE DII 2~30A 20A AZ SERRA 11
4009565 FUSIVEL CARTUCHO 100A SERRA 18
4009582 FUSIVEL CARTUCHO FACA NR 200A 250V SERRA 10
4009581 FUSIVEL CARTUCHO FACA NR 150A 250V SERRA 6
4005349 CONTATO P/CONT SIEMENS-3TY1 320-0A SERRA 4
4005323 CONTATO P/CONT SS-3TY6-580-0A SERRA 3
4004491 ZZCHAVE SECCION SOB CARGA 1000A 500V ACE SERRA 1
6011182 PLACA CIRCUITO CONTROLE ETC 0700770 SERRA 1
4001264 BASE FUS D MM 25A CPL FIX RAP SERRA 27
6026739 SUPORTE BOCAL OXIMIG 020230169 SERRA 30
6026742 BOCAL TOCHA SOLDA MIG/MAG 15MM SBM 360 SERRA 10
6002533 BICO CORTE 6290 NFF3 CU 50~75MM SERRA 2
6026741 PORTA BICO OXIMIG 020230170 SERRA 5
6026740 BICO MIG 020230200 SBM235 SERRA 8
6026743 ISOLADOR OXIMIG 020230098 SERRA 5
4020894 TERMOMETRO EMBULOMETRO 85-103'C SERRA 1
4012626 ZZMANOMETRO RT 2.1/2" 0-300KGF/CM2 1/4"N SERRA 2
3500389 AGENTE ESP BIODEGR AG2 JACTO 352773 5L SERRA 75
4092326 ROLETE EST AC1020 70MM 340MM 0~200KG SERRA 17

4074209 ENGRENAGEM COROA DUPLA 1045 712 73,6 MM SERRA 1



4043083
4023252
8017908
6014345
6014342
4082970
4103039
4010152
4091450
3501961
4010596
4011343
4019530
4019529
8035293
8028668
8009278
8014725
8022564
8038346
4070768
4070767
8057326
4072707
4010333
6022343
6014692
8029242
8042942
8015376
8039011
8024753
4019796
9800120
6006344
6004086
6004106
6004078
6008696
8053618
4018216
4013150
6012034
8048240
8017736

& LEILAD

ONLINE.NET

Descrigdao Detalhada
ROTAMETRO ALCOOL (35'GL) 250-2500L/H
VIDRO VISOR RET BORO 34X340X17MM
ELEMENTO FILTR 3/4 NPT HAD FAR764006N/2
TELA INOX A304 MALHA 200 FO,05MM 1,0M
TELA INOX A304 2130MMX315MM
GAXETA TEFLON 7/8" SOTEQUI GWHC
GAXETA V COU 180X309X40MM
GAXETA VED HIDR COURO 305X180X35MM
GAXETA ESPEC COU-CR 150X305X35MM
HERBICIDA HEXAZINONA 250G/L
IGNITOR LAMP VAP SOD INT 250W
LAMPADA HALOG PALIT 10W 6V
START LAMP FLUOR 40W
START LAMP FLUOR 20W
PORCA ESP CON INOX M.LAVRAS 02174002
MOLA LAVRAS 01142001
BUCHA LAVRAS 02044008
CONTRAPESO LAVRAS 02067003
GUIA LAVRAS 02122001
RESERVATORIO LAVRAS 02189001
JUNTA ESP CIR A304 295X230MM
JUNTA ESP CIR A304 443X386MM
PORCA KOMATSU 0180301824
GAXETA G1 NBR 285X310X16MM
GUARNICAO BORR 5/8X280MM FURO 1.1/2
PESCADOR BARRA MAGNETICA JPROLAB 28017
TERMOMETRO QUIM RETO MERC (HG) 0-150G
MOLA SUSP TRAS 02A CONTRA FEIXE MB1513
TAMBOR METANEIDE 99217
COTOVELO MERCEDES 3089907171
RETENTOR MB 0099978446
JUNTA MB MERCEDES
TALISCA CHAPA AC 1/4X2010MM
GRAXA ROTO GLIDE 400G A.COPCO 2908851400
FILME COPIADOR PT 216 MMX70M KXFA57A
CARTUCHO JATO TINTA COL 40,5 HP 51641A
CARTUCHO JATO TINTA PT 40ML HP 51629A
CARTUCHO JATO TINTA COL 11ML HP 51649N
PAPEL TERMICO FAX 216 MMX30M ALT DEFINIC
PNEU MOTO DIAN D90/90-21 54S
ROLETE RET AC TRANSP 101,6X1320X1360MM
MOLA FREIO MAGNETICO PTE ROL
REBITE MAC CHAT CU/LIGA110 6,4MM 38,1MM
CONEXAO COAGRIL 200084
EIXO ROTOR BBA CENTRIF JACTO 815183

9 JORDAO

LEILOES

SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA

w P, OOW WA~ D -

1000



8000506
8041913
4014800
4010341
4036018
6012921
6012552
6012548
6026958
6013535
6012866
6012880
6013103
6013316
6013641
6012394
6012987
6013068
6012392
6013504
6013609
6013642
8008013
8004373
8001972
4005557
8042259
8057072
8024584
8024599
4049615
4050104
4086003
4098902
4012313
4012314
4013071
4095261
4016227
4013048
4057179
4022641
4013241
6011939
6013709

& LEILAD

ONLINE.NET

Descrigdao Detalhada
ADAPTADOR PLAST ENG RAP SGS QJ8355 NYB
SUPORTE JACTO 616714
PLATO FRICCAO DES 10702
GUARNICAO BORR EPDM VALV ANG 16 COFACO
RETENTOR FPM 139,7X114,3X11,1MM
RETENTOR NBR 150X112X15MM
RETENTOR 12264
ZZRETENTOR NBR 120X144,9X15MM Bl 01884BG
RETENTOR (NBR) 160,3X100X10MM 01426BR1
RETENTOR NBR 112,7X89X12,7MM
ZZRETENTOR NBR 133,3X158,7X12,7MM
RETENTOR NBR 22,2X10,8X7,9MM
RETENTOR NBR 43X26X10MM
RETENTOR NBR 73X47,7X12MM
ZZRETENTOR WYLERSON 17504
RETENTOR 00041BA
RETENTOR NBR 30X15X10MM
RETENTOR NBR 36X24X6MM
RETENTOR NBR 42,9X31,7X9,5MM
ZZRETENTOR NBR 80X110X12MM 46772RR2
RETENTOR SYMA
ZZRETENTOR WYLERSON 43161
BOTAO SCANIA 296129
ANEL VED SC 1338019
ANEL SC 292847
ZZCONTRA TELA INOX CENTRIF MAUSA KONTI6
SUPORTE SANTAL 21910198
CALOTA CUBO RODA SANTAL 091103000
JUNTA SANTAL 22980106
JUNTA SANTAL 19220133
PAPEL FILTR OLEO DIES 185X185MM 4F 3/4"
REVESTIMENTO LAT WEIR 26211500840081
PONTA A304 15X10,7CM 602 BIKOS BVU6020
MANCAL RAD AXIAL TEXAS 31925
ZZMANCAL METAL PATENTE 70X80MM
ZZMANCAL METAL PATENTE 80MM RECONDIC
MOLA ACO PARAF TURBINA TGB
MANGOTE WEIR VJ002501
REPARO VALV SOLEN PARKER 52148006
MOLA A304 VALV RETENC 30"
JUNTA VISOR NIV B9 340X34X17MM
VALVULA GAV FF 2"
MOLA VALV RETENC 12" TRW
PROVETA GRAD 10ML BR VIDROLAB V4210
ROLHA BORR 50MM D-N

g JORDAO

LEILOES

SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA
SERRA

oo o =N D

[
w

N R NP PWNWOLNOON

616

18

VL, W R

w =
o P o

WINIDANOODDON VR, R R



6002479
6011142
4084672
4076840

3 LEILAD
= ONLINE.NET

Descrigdao Detalhada
BICO BULSEM
PIPETA VIDRO SOROL 01ML 1/100
TUBO VIDRO CILIND 3/4"X500MM
VIDRO CRIST TMP LISO INC 3MM

9

JORDAO

LEILOES

SERRA
SERRA
SERRA
SERRA

A O W ik



